

Multiply by 10^{-2} (I)

Find each product.

$$46 \times 10^{-2} =$$

$$23 \times 10^{-2} =$$

$$97 \times 10^{-2} =$$

$$53 \times 10^{-2} =$$

$$64 \times 10^{-2} =$$

$$49 \times 10^{-2} =$$

$$98 \times 10^{-2} =$$

$$76 \times 10^{-2} =$$

$$68 \times 10^{-2} =$$

$$91 \times 10^{-2} =$$

$$43 \times 10^{-2} =$$

$$18 \times 10^{-2} =$$

$$28 \times 10^{-2} =$$

$$79 \times 10^{-2} =$$

$$62 \times 10^{-2} =$$

$$21 \times 10^{-2} =$$

$$51 \times 10^{-2} =$$

$$15 \times 10^{-2} =$$

$$45 \times 10^{-2} =$$

$$89 \times 10^{-2} =$$